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Quiz tomorrow
Examples

adding decimals a) 12.36 + 0.258
multiplying decimals a) 15.7 x 0.6

1.0

Rounding a decimal to the tenths place a) 127.62 b) 0.975
122 QY J

model multiplication of decimals with area mode‘r a)1.3x25

16 pts total
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d. Multiphy. L4e a réctangle rode).

ay 4.2 % 37 by 8% =« 0.3 ¢} Of < 08
'y 2 ,’!L\i'q 5.9 23 0.6 ol
A7 P w03 3 e
gl

75

5. Arectangular plat of land measures 305 m by 5.3 m
What is the area of the plat?
Estimate to check your answer & reasonahle

2
B Qro0 3(3.5'
30.5%5_-3 ___5"—3——
9L2
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Homework Solutions
5. A rectangular plat of land measures 30,5 m by 5.3 m
Whal is the area of the plal?

Estimate to chack your answer 5 reasonable

B+ Qv 3(3?5'

30.5¢5.3 __b,%
N 30X E 9 !
1 5D 1615

6) Multiply. Describe the pattern

a)8.36x10 =83.6 a)8.36 x0.1 =0.836
8.36 x 100 =836 8.36 x 0.01 =0.0836
8.36 x 0.001 = 0.00836

8.36 x 0.0001 = 0.000836
When you multiply by multiples of

8.36 x 1000 = 8360
8.36 x 10 000 = 83 600

When you multiply by multiples of 10
(10,100, 1000..), the digit in the product

moves one place to the left each time. (Or,

the decimal point moves one place to the
right each time.)

0.1 (0.1,0.01, 0.001..), the digit in the
product moves one place to the right
each time. (Or, the decimal point
moves one place to the left each
time.)
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Homework Solutions

8
_ 3.4
7) Area = length x width
=3.4mx 27 2l
=3.4mx2.7m DY)
= 918 m’ Lso

8)a) 2.7 x4.786 = 12.9222

b) 12.52 x 13.923 = 174.31596

c) 0.986 x 1.352 = 1.333072
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B, The luel consumption esimanes of logie car are
City: 212 kmil Highway: 23.3 kmil
! The car's ga tank holds 40.2 L of fusl,

Ay Haow far could Joske drive on a full tank of gas on the highwey
before she uns out of fusl?

B How far could she drive an a full tank of gas in the city?

Homework Solutions

.3
&)x%é.a she @
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3400 A30. m bh o
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o) .fh ‘H'le Cal?':ﬂ CIICJ
Can dArve @52, 24 km

18. Find the cost of rach item at the Farmers’ Market.
Which strategy will wau use? Justify your chalce,
aj .56 kg of apples at 50.95/kg
by 105 ko of potatoes at 51.09'%q
] (1L.25 kg of herbs at £2.48%g

N A

by Io.6 /o .19 = 1156
x 149 0.6 15 < 0ad
5 12,5
‘,220
|05 00
FENE br¢’2 56
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11. The product of 2 decimals is (.36
What might the decimals be? Homework Solutions
Fimd a5 rmariy answers as you can

HxT9=36 , s06.4%x0970.%
2L 18 =36 1 S0 0. 2x [ % =0.%
ly 3L < 36 y So 0.1 X85 = '0.3b

3x 12220 , sp 0.3 xJR= 0.3k

12 a) Multiphy 18 = 12
bj Use cnby the rasull from par a and estimation.
Find each praduct
i} 18 =12 i) 18012 i) 18 = 12 iw] 018 = 012
Explain your strategees

AN
¥ 12

Ig= 180
1oy 2L

2yl =
216
W 1.8y 12 =26
gy 0.12=22.1¢

0-1¥x 12 =2.16
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13. Take It Further

Homework Solutions
a) Multiphy,

i} 63 = 1.B Iy 037 * 0.26 iy 352 < 2.4 ¥l 1234 = 09
ki Look at the questions and praoducts in part a

What pattemns do you see in the numbers of decimal places
in the question and the product?
Haowy could you use this pattem to place the decimal polnt
in a product without estimating?

) Multiply: 2.6 = 3.5
[ the pattern from part B hold truse?

IF wour answer is no, explain why naot, \
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1)12.36x7.2 2) 3.25x0.4 3)1.9x2.37
1}';6 355 32J37
792 x0.4 x 19
2472 1300 2133
86520 2370
88992 4503
4)14.7 X 6.2 5)60.7x 124  6)8x54.7
' 3
Y47 60.7 54.7
X 6.2 X 124 _x38
294 2428 4376
8820 12140
9114 + 60700
75268
7)12.7 + 0.25 8) 14.3-1.24 9) 115.69 +21.24
12.7 14§ 115.59
+ 0.25 - 1.24 + 21.24
FRE 12:0% 13093

10
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Quiz Tomorrow

Worksheet - Multiply DeCiré‘ﬁclfé 11& 12

Then Gr 7 Math Review on Decimals 2

&

The Gr 7 Math Review on Decimals3

11



Attachments

Q Grade 7 Math Review on Decimals 2_ Thursday.docx
Q Grade 7 Math Review on Decimals 3_ Friday.docx



Grade 7 Math Review on Decimals Day 1

Name:_________________



Answer each of the following WITHOUT a calculator (Show work)  BE NEAT



1) 0.258 + 0.78		2)   107.03 + 12.4		3)  201.69 – 186.75		4)   2.36 – 1.487













Round the following to the tenths place

5) 98.36			6)    10.21		7) 16.987		8) 104. 34







For each of the following use your multiplication square to help answer (No calculators)

9) 2.37 x 0.6		10)    14.8 x 0.35		11)   0.78 x 0.56		12)   10.3 x 0. 47

SMART Notebook


Grade 7 Math Review on Decimals Day 2

Name:_________________



Answer each of the following WITHOUT a calculator (Show work)  BE NEAT



1) 142.36 + 96.214		2)   0.25 + 36.58		3)  96. 705 - 14.3	4)   5.607   - 2.988









5) 101.257  + 16.2  + 0.79			6)    52  + 0.14  + 16.8







7) On a trip Jim spent $45.92 on gas the first day, $88.24 the second day and $39.78 the third day. What was the total cost for gas over the three days?









8) Karen wants to buy a new watch that cost $145.73. Her grandmother gave her $20 for her birthday and she also has $32.62 saved. How much more money does she need to buy the watch?











9) A) Model with rectangle  2.4  x 0.6			B)    Model     1.8   x  2.3











For each of the following use your multiplication square to help answer (No calculators)

10) 0.96 x 0.7		10)    12.8   x 7.2		11)   78.9   x 5.5		12)   108  x 0.22











11) 0.789   x   3.7		12)   60.3   x  7.4		13)  0.27  x 0.64		14)   23.6    x   4.58















15) Joni wants to buy 18 kg of fruit for her restaurant. The fruit is selling for $1.58 per kilogram. What will the cost be for the fruit she wants to buy?











16) How far can you drive with 50.7 L of gas, if a car can travel 21.2 km with 1 litre?

SMART Notebook
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